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  2 3

 
 

GENERAL INSTRUCTIONS IN EXAMINATION HALL 
A. General : 
1. This Question Paper contains 25 questions. Please check before 

starting to attempt. The question paper consists one Section. In 
Section, 4 parts, Physics (1 to 5), Chemistry (6 to 10), Mathematics (11 
to 20) and Mental Ability (21 to 25). 

v- lkekU; % 

1. bl iz'u&i=k esa 25 iz'u gSa] Ñi;k ijh{kk 'kq: djus ls igys tk¡p ysaA 

bl iz'u&i=k esa ,d [k.M gSA [k.M esa] pkj Hkkx bl izdkj gSa&HkkSfrd 

foKku (1 ls 5), jlk;u foKku (6 ls 10), xf.kr (11 ls 20) rFkk 
ekufld ;kSX;rk (21 ls 25) 

2. Space is provided within question paper for rough work hence no 
additional sheets will be provided. 

2. jQ dk;Z djus ds fy, iz'u&i=k esa gh LFkku fn;k x;k gS vr% 

vfrfjDr :i ls dksbZ 'khV ;k isij ugha fn;k tk,xkA 

3. Blank paper, clipboard, log tables, calculators, cellular phones and 
electronic gadgets in any form are not allowed inside the 
examination hall. 

3. [kkyh dkxt] r[rh] y?kqx.kd lkj.kh] dsYdqysVj] lsy Qksu ,oa fdlh 

Hkh izdkj ds bysDVªkWfud xStsV ijh{kk gkWy esa ykuk oftZr gSA 

4. The answer sheet, a machine-gradable Objective Response 
Sheet (ORS), is provided separately. 

4. mÙkj iqfLrdk] vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ tks fd e'khu }kjk 

tk¡ph tk,xh] vyx ls iznku dh xbZ gSA 
5. Do not Tamper / mutilate the ORS or this booklet. 5. vks-vkj-,l- ;k iz'u&i=k dks fdlh Hkh izdkj ls dkaVs&NkaVs ;k eksM+s ughaA 

6. Do not break the seal of the question-paper booklet before 
instructed to do so by the invigilators. 

6. iz'u&i=k dh lhy rc rd ugha [kksysa tc rd fd fujh{kd }kjk funsZ'k 

ugha fn, tk,saA 

7. SUBMIT the ORS to the invigilator after completing the test & take 
away the test paper with you. 

7. ijh{kk lekIr gksus ds ckn vks-vkj-,l- 'khV fujh{kd dks lkSais rFkk 

iz'u&i=k vius lkFk ys tk,saA 

8. Any student found/reported using unfair means to improve his/her 
performance in the test, shall be disqualified from STaRT. 

8. ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa dk iz;ksx 

djrk ik;k x;k ;k ,slk lwfpr fd;k x;k rks og  

STaRT ds fy, v;ksX; gksxkA 
B.  How to fill Objective Response Sheet (ORS) for filling details 

marking answers: 
9. Use only HB Pencil for filling the ORS. Do not use Gel/Ink/Felt pen 

as it might smudge the ORS. 

c- vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ esa fMVsYl rFkk mÙkj vafdr djus 

ds fy, fuEu izdkj Hkjsa % 

9. vks-vkj-,l- Hkjus ds fy, dsoy HB isafly dk gh iz;ksx djsaA 

tsy@L;kgh@QsYV isu iz;ksx ugha djsaA 
10. Write your STaRT Student Registration No. in the boxes given at 

the top left corner of your ORS with blue/black ball point pen. Also, 
darken the corresponding bubbles with HB Pencil only. 

10. viuk STaRT fo|kFkhZ jftLVªs'ku Øekad vks-vkj-,l- 'khV ds ck;sa dksus esa 

fn, x, LFkku esa uhys ;k dkys ckWy isu ls HkjsaA lkFk gh Øekad ds vuqlkj 

uhps fn, x;s xksyksa dks Hkh HB isafly ls xgjk djsaA 
11. If any student does not fill his/her STaRT Student Registration No. 

correctly and properly, then his/her ORS will not be 
checked/evaluated. 

11. ;fn dksbZ fo|kFkhZ viuk STaRT fo|kFkhZ jftLVªs'ku Øekad lgh ,oa 

Bhd <ax ls ugha Hkjrk gS rks mldh vks-vkj-,l- dks pSd@ewY;kafdr ugha 

fd;k tk,xkA 
12. Since it is not possible to erase and correct pen filled bubble, you 

are advised to be extremely careful while darken the bubble 
corresponding to your answer. 

12. vks-vkj-,l- esa fn, x, xksyksa dks ;fn ,d ckj ckWy isu ls xgjk fd;k 

tkrk gS rks mls feVkuk laHko ugha] blfy, fo|kFkhZ iwjh lrdZrk ls gh 

xksyksa dks xgjk djsaA 
13. Neither try to erase / rub / scratch the option nor make the Cross 

(X) mark on the option once filled. Do not scribble, smudge, cut, 
tear, or wrinkle the ORS. Do not put any stray marks or whitener 
anywhere on the ORS. 

13. ,d ckj fdlh fodYi ds xksys dks xgjk djus ds ckn feVkus ;k   

[kqjpus dk iz;Ru ugha djsaA vks-vkj-,l- 'khV ij fdlh izdkj ds /kCcs] 

xUnxh ;k flyoV u yxus nsa vkSj u gh bls eksM+sa ;k dkVsaA 

14. If there is any discrepancy between the written data and the 
bubbled data in your ORS, the bubbled data will be taken as final. 

14. ;fn fdlh lanHkZ esa fyf[kr ,oa xksyksa esa vafdr tkudkjh esa varj ik;k 

x;k rks xksyksa esa vafdr tkudkjh dks gh izekf.kd ekuk tk,xkA 
C. Question paper format and Marking scheme : 
15. SECTION: For each right answer you will be awarded 4 marks if 

you darken the bubble corresponding to the correct answer and 
zero marks if no bubble is darkened. In case of bubbling of 
incorrect answer, minus one (–1) mark will be awarded. 

l- iz'u&i=k izk:i ,oa vad iznku fu;e %  

15. [k.M% izR;sd mÙkj ds fy, 4 vad fn, tk,xsa ;fn lgh xksys dks xgjk 

fd;k x;kA ;fn xyr xksys dks xgjk fd;k x;k rks ¼–1½ vad dkVk 

tk,xkA ;fn fdlh xksys dks xgjk ugha fd;k x;k rks 'kwU; vad fn;k 

tk,xkA 
 

 
Best of Luck 

 ®  
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PART - I (PHYSICS) Hkkx - I ¼HkkSfrd foKku½ 

Straight Objective Type  
This section contains (1-5) single choice questions. Each question has choices (A), (B), (C) and (D) 
out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (1-5) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA 

 

1. To manufacture a polyethlene film a wide band is pulled over rollers at v = 15 m/s. During this process 
the film's surface acquires a uniformly distibuted charge , mainly because of friction. An electric field of 
strength 20 kV/cm can cause a discharge in air. Taking into account this fact, maximum possible 
magnetic field's flux density B near the film's surface will be :   

 (A) 3.33 × 10–9 weber/m2   (B) 2.22 × 10–9 weber/m2 
 (C) 4.44 × 10–9 weber/m2   (D) 5.55 × 10–9 weber/m2  

 
 ,d ikWfyFkhu dh ijr cukus ds fy, ,d pkSM+s iês (band) dks jkWyj ij v = 15 m/s ls [khapk tkrk gSA bl [khapus 

dh izfØ;k esa ijr dh lrg ,d leku vkos'k ?kuRo izkIRk djrh gSS, ftldk eq[; dkj.k ?k"kZ.k gSA 20 kV/cm ds 

lkeF;Z ds oS|qr {ks=k ds dkj.k ok;q eas vkos'k dk folj.k gksrk gSA bl rF; dks /;ku esa j[krs gq,] ijr dh lrg ds 

ikl vf/kdre laHko pqEcdh; {ks++=k QyDl |UkRo B gksxk        

 (A) 3.33 × 10–9 oscj /m2    (B) 2.22 × 10–9 oscj /m2 

 (C) 4.44 × 10–9 oscj /m2    (D) 5.55 × 10–9 oscj /m2  

 

2. A convex lens forms inverted image of a real object on a fixed screen. The size of image is 12 cm. 
When lens is displaced 20 cm along principle axis it again forms a real image of size 3 cm on the 
screen. Focal length of the lens is. (Assume image formation only by paraxial rays)   

 ,d mÙky ySUl fLFkj insZ ij okLrfod oLrq dk mYVk çfrfcEc cukrk gSA çfrfcEc dk vkdkj 12 cm gSA tc ySUl 

dks eq[; v{k ds vuqfn'k 20 cm foLFkkfir fd;k tkrk gS rks ;g iqu% insZ ij 3 cm vkdkj dk okLrfod çfrfcEc 

cukrk gSA ySUl dh Qksdl nwjh Kkr dhft,A ¼;g ekfu;s fd dsoy lekf{k; fdj.ksa gh izfrfcEc fuekZ.k esa Hkkx ysrh 

gSA½     

 (A)  
40
3

 cm  (B) 
80
3

 cm  (C)  20 cm  (D) 
50
3

 cm  
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3. A metallic V shaped rod OAC is rotated with respect to one of its end in uniform magnetic field, such 
that axis of rotation is parallel to the direction of magnetic field. Length of each arm of rod is L and angle 
between the arms is 60º. B is the mid–point of section AC. Magnitude of magnetic field is B. Then 
choose the incorrect relation.    

 V vkdkj dh ,d /kkfRod NM+ OAC blds ,d fljs ds lkis{k le:i pqEcdh; {ks=k esa bl çdkj ?kwerh gS] fd ?kw.kZu 

v{k pqEcdh; {ks=k dh fn'kk ds lekUrj gSA NM+ dh çR;sd Hkqtk dh yEckbZ L gS rFkk Hkqtkvksa ds e/; dks.k 60º gSA B 

[k.M AC dk e/; fcUnq gSA pqEcdh; {ks=k dk ifjek.k B gSA  

 rc xyr lEcU/k dk p;u dhft,A 

 

 (A) VA – V0 =
2BL

2
   (B) VA – VC = 

2BL
2

  (C) VC – VB =
2BL

8
   (D) VA – VB = 

2BL
8

  

 

4. A uniform disc of mass m and radius R is released gently on a horizontal rough surface. Such that 
centre of the disc has velocity V0 towards right and angular velocity 0 (anti clockwise) as shown. 

 Disc will certainly come back to its initial position if 
 (A) 0R > 2V0  (B) 0R = 2V0  (C) 0R < 2V0  (D) data insufficient  

 
 m nzO;eku rFkk R f=kT;k dh ,d le:i pdfr dks {kSfrt [kqjnjh lrg ij lko/kkuh iwoZd bl izdkj j[krs gS fd 

pdrh ds dsUnz dk nkW;h vksj V0 osx rFkk 0 dks.kh; osx ¼okekorZ½ fp=kkuqlkj j[krh gSA  

 pdrh okil fuf'pr :i ls izkjfEHkd fLFkfr ij ykSVsxh ;fn  

 (A) 0R > 2V0  (B) 0R = 2V0  (C) 0R < 2V0  (D) vkWdM+s vi;kZIr 
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5. A spring mass system is placed on a frictionless horizontal surface as shown in the figure. The spring is 

expanded by 1
10

m and the blocks are given velocities as shown, then maximum extension of spring is : 

 (A) 1
10 2

m  (B) 1
5 2

 m  (C) 1
20

m  (D) None of these  

 

 fp=kkuqlkj ,d fLizax nzO;eku fudk;] ?k"kZ.kghu {kSfrt /kjkry ij j[kk gSA fLizax fn;s x;s {k.k ij 
1

10
m ls foLrkfjr 

gS rFkk nksuks CykWd dks iznf'kZr fp=k ds vuqlkj blh {k.k osx iznku fd;s x;s gSA rc fLizax dk xfr ds nkSjku 

vf/kdre foLrkj D;k gksxk :    

 (A) 1
10 2

m  (B) 1
5 2

 m  (C) 1
20

m  (D) buesa ls dksbZ ugha   

 

PART - II (CHEMISTRY) Hkkx - II ¼jlk;u foKku½ 

Straight Objective Type  
This section contains (6-10) single choice questions. Each question has choices (A), (B), (C) and (D) 
out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (6-10) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh 

gSA 
 

6. A solution of a salt with concentrated H2SO4 acid produces violet colour vapours which turns starch 
paste blue. The salt may be : 

 (A) chloride  (B) nitrate  (C) bromide  (D) iodide 
 lkanz H2SO4 vEy ds lkFk ,d yo.k foy;u cSaxuh jax dh ok"i mRiUu djrk gS tks LVkpZ isLV dks uhyk dj nsrh 

gSA yo.k gks ldrk gS %  
 (A) DyksjkbM  (B) ukbVªsV  (C) czksekbM  (D) vk;ksMkbM 
 

7. The equilibrium constant Kc of the reaction, A2(g) + B2(g)  2AB(g) is 
3
 . If 1 mol of A2 and 2 mol of 

B2 are mixed, the amount AB at equilibrium would be : 

 vfHkfØ;k A2(g) + B2(g) 2AB(g) ds fy, lkE;koLFkk fu;rkad KC = 
3
  gSA ;fn A2 dk 1 eksy rFkk B2  ds 2 

eksy feykrs gS] rc lkE;koLFkk ij AB dh ek=kk gksxh & 
 (A) 0.25 mol  (B) 0.40 mol  (C) 0.50 mol  (D) 1.00 mol 
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8. In context of the lanthanoids, which of the following statement is not correct ?   
 (A) There is a gradual decrease in the radii of the members with increasing atomic number in the 

series. 
 (B) All the member exhibit +3 oxidation state. 
 (C) Because of similar properties the separation of lanthanoids is not easy. 
 (D) Availability of 4f electrons results in the formation of compounds in +4 state for all the members of 

the series. 
 ySaFksuks;Mksa ds lacU/k esa fuEu dFku fn;s tkrs gSA buesa ls dkSulk ,d lgh ugha gSa\ 

 (A) ijek.kq la[;k ds c<+us ds lkFk Js.kh esa ijek.kq =k̀T;k,a /khjs&/khjs ?kVrh jgrh gSA 

 (B) lHkh lnL; +3 vkDlhdj.k voLFkk iznf'kZr djrs gSA  

 (C) leku xq.k/keZ ds dkj.k ySaFksuks;Mksa dk i`Fkd~dj.k vklku ugha gksrk gSA  

 (D) 4f bysDVªkuksa dh miyC/krk dk ifj.kke gS fd bl Js.kh ds lHkh lnL; +4 vkDlhdj.k voLFkk iznf'kZr  

     djrs gSA  

9. Order of rate of  electrophilic substitution reaction is : 

 bysDVªkWu Lusgh izfrLFkkiu vfHkfØ;k dh nj dk lgh Øe gS %  

                          
 (A)  Q > P > S > R  (B) Q > P > R > S  (C) P > Q > S > R  (D) P > Q > R > S. 
 

10. The major product obtained in the following 

 fuEu vfHkfØ;k esa izkIr eq[; mRikn gksxkA   

  2Br /Fe  

 (A)    (B)   

 (C)    (D)  
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PART - III (MATHEMATICS) Hkkx - III ¼xf.kr½  

 

Straight Objective Type  
This section contains (11-20) single choice questions. Each question has 4 choices (A), (B), (C) and (D) out of 
which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (11-20) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA 
 

 

11. Given the system of straight line a(2x + y – 3) + b (3x + 2y – 5) = 0. The line of system situated farthest 
from the point (4, – 3) has the equation  

 ekuk fd js[kkvks  a(2x + y – 3) + b (3x + 2y – 5) = 0 dk fudk; gSA fcUnq (4, – 3) ls vf/kdre nwjh ij fLFkr js[kk 

ds fudk; dk lehdj.k gS 
 (A) 4x + 11y – 15 = 0 (B) 7x + y – 8 = 0 (C) 4x + 3y – 7 = 0 (D) 3x – 4y + 1 = 0 
 
12. Circle x2 + y2 = 4 intersect co-ordinate axes on point A, C and B, D respectively. If P is any point on 

circle then value of PA2 + PB2 + PC2 + PD2 

 (A) 32   (B) 16   (C) 64   (D) None of these 
 o`Ùk x2 + y2 = 4 funsZ'kkad v{kksa dks Øe'k% A, C vkSj B, D ij izfrPNsn djrk gSA ;fn o`Ùk ij dksbZ fcUnq P gS rc 

PA2 + PB2 + PC2 + PD2 dk eku gSA 

 (A) 32   (B) 16   (C) 64   (D) buesa ls dksbZ ugha 
 

13. If  2 tan  = tan   then 3 5cos2
5 3cos2
 
 

= 

 ;fn 2 tan  = tan   rc 3 5cos2
5 3cos2
 
 

 = 

 (A) cos 2  (B) cos 2  (C) sin 2   (D) sin 2 
 

14. Value of ( 2 + 1)6 + ( 2  – 1)6 is 

 ( 2  + 1)6 + ( 2  – 1)6 dk eku gS 
 (A) 196   (B) 198   (C) 202   (D) 216 
 

15. If eccentricity of Hyperbola  
2 2

2 2
x y–
a b

 = 1, is e, then the eccentricity of the hyperbola 
2 2

2 2
y x–
b a

 = 1, is : 

 ;fn vfrijoy; 
2 2

2 2
x y–
a b

 = 1 dh mRdsUnzrk e gS rc vfrijoy; 
2 2

2 2
y x–
b a

 = 1 dh mRdsUnzrk gS&  

 (A) e   (B) 
2

e

e – 1
  (C) e 2e – 1   (D) e2 – e 
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16. The coefficient of  11x  in the expansion of 2 3 10(1 x x )   is 

 2 3 10(1 x x )    ds foLrkj esa x11 dk xq.kkad gS 

 (A) 10 4 10 5
4 3 5 1C . C C . C     (B) 10 4 10 5

4 3 5 1C . C C . C     

(C) 10 4 10 5
4 3 5 1C . C C . C     (D) 10 4 10 5

4 3 5 1C . C C . C    
 

17. The Summation of the series tan– 1 –1 –1
2 4 2 4 2 4
2 4 6tan tan

1– 1 1 1– 2 2 1– 3 3
                  

 +.......is 

 Js.kh dk ;ksxQy  tan– 1 –1 –1
2 4 2 4 2 4
2 4 6tan tan

1– 1 1 1– 2 2 1– 3 3
                  

 +..........gS& 

 (A) 2   (B)    (C) 
2
    (D)  

4
  

 

18. The left-hand derivative of f(x) = [x] sin( x) at x = k, (k is an integer) is (where [] denotes greatest 

integer function) 

 Qyu f(x) = [x] sin( x) dk x = k, (tgk¡”k ,d iw.kk±d gS) ij cka;k vodyt gS ¼tgk¡ [] egÙkeiw.kkZad Qyu dks 

O;Dr djrk gS½ 

 (A) (– 1)k(k – 1) (B) (– 1)k – 1 (k – 1) (C) (– 1)k k  (D) (– 1)k – 1 k 
 

19. The value of  
1 4 4

2
0

x (1– x) dx
1 x  is 

  
1 4 4

2
0

x (1– x) dx
1 x  dk eku gS& 

 (A) 22
7

–   (B) 2
105

  (C) 0   (D) 71 31–
15 2

  

 

20. Area bounded between curves y2 = 4x and x2 = 4y is 

 oØks y2 = 4x vkSj x2 = 4y ls ifjc) {ks=kQy gS& 

 (A) 16   (B) 8   (C) 9   (D)  16
3
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

PART - IV (MENTAL ABILITY) Hkkx - IV ¼ekufld ;ksX;rk½ 

Straight Objective Type  
This section contains (21-25) single choice questions. Each question has choices (A), (B), (C) and (D) out of 
which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (21-25) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh 

gSA 

 

Direction (21 to 23) Find the mising term. 
funsZ'k (21 ls 23) % yqIr in Kkr djsaA 
21. 1, 2, 5, 16, 65,  ? 
 (A) 326   (B) 394   (C) 343   (D) 347 
 

22. PQ  33 27 MN 
 CL 15 12 DH 
 SB ? ? RP 
 (A) 23, 18  (B) 17, 23  (C) 21, 34  (D) 9, 29 
 

23. 
 

7 
3 4 

5 

1 
7 8 

5 
64 
27 

1 
? 

 

 (A) 125   (B) 216   (C) 121   (D) 225 
 

24. If SOON is coded as 27 and PUK is coded as 12, how would you code BLUE in the same code  
languagee? 

 ;fn SOON dks 27 vk Sj PUK dks 12 ls dksM+ fd;k tkrk g S rk s mlh Hkk"kk es a BLUE dks fdl fdlls 

dk sM + fd;k tk; sxk \ 
 (A) 15   (B) 16   (C) 13   (D) None of these 
                bues a ls dk sb Z ugh a 
 

25. 6 men P, Q, R, S, T and U sat around a circular table. P is opposite to R. T is not between P and Q. Q 
is immediate right of R and U is opposite to T. Who sat immeidiate left of R ? 

 6 vkneh P, Q, R, S, T vkSj U ,d o`Rkkdkj est ds vkl ikl cSBs gq, gSA P, R ds foijhr gSA T, P rFkk Q ds chp 

esa ugha gSaA Q, R ds rqjar nk;sa gS rFkk U, T ds foijhr gSA R ds fudVre ck;sa dkSu cSBk gS” \ 
 (A) S   (B) T   (C) U   (D) None (dksb Z ugh a) 
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ANSWER KEY  Sample Test Paper  Stream : Science-Maths 
  
1. (A) 5. (A) 2. (B) 3. (A) 4. (B) 6. (D) 7. (D) 

8. (D) 9. (A) 10. (B) 11. (C) 12. (A) 13. (A) 14. (B) 

15. (B) 16. (D) 18. (C) 18. (A) 19. (A) 20. (D) 21. (A) 

22. (C) 23. (B) 24. (D) 25. (B) 
 

 

 



 

    

 


